
Answer on Question #72703, Math / Statistics and Probability 

On average, a textbook author makes two word-processing errors per page on the 

first draft of her textbook. What is the probability that on the next page she will 

make  

(a) 4 or more errors? 

(b) no errors?  

Solution 

Let 𝑋 be the number of errors made in one page. Then 𝑋 has a Poisson distribution 

with 𝜆 = 2 per page 

𝑝(𝑥; 𝜆) =
𝑒−𝜆𝜆𝑥

𝑥!
 for 𝑥 = 0, 1, 2, … 

(a) 4 or more errors 

That is 

𝑃(𝑋 ≥ 4) = 1 − 𝑃(𝑋 ≤ 3) = 1 − (𝑝(0; 2) + 𝑝(1; 2) + 𝑝(2; 2) + 𝑝(2; 2)) = 

= 1 − (
𝑒−220

0!
+

𝑒−221

1!
+

𝑒−222

2!
+

𝑒−223

3!
) = 1 − 𝑒−2 (1 + 2 + 2 +

4

3
) ≈ 0.1429 

 

(b) no errors 

That is 

𝑃(𝑋 = 0) = 𝑝(0; 2) =
𝑒−220

0!
= 𝑒−2 ≈ 0.1353 
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